1 HFAN (1/8)

& @ | Hh<URKE

5 4 7 | O&5ME

& & | H1500

& 2000 ()

HEES | KFTH02282% 2

(:% 10 (9

Q

(:3(:% 165%25%) 7

\ \ r —

Lol

2 \”\nau
S Bob |

I —

O#FAN (17 8)

B G)
>
\ s s
o 150 e
2000
52 943 10 943 52
|
e ) /é@
ol T
N
38
an o o
e ac
faff H|
OB \ @0
\ AN \ ;
” d 7 ;;?xi
o
5 b o @ =18

700

UM (1720 C{

AEZO8

1) RRORFSUSETHTT.
0500

el

@\“1

|

|

0
270
g

60
[
-
5
It 4

NN (178)

5% LRI B B (mm) 1] g i z

1 BAE $60.5xt3.2 STK400 HENKEE

2 Alixry 7 t1.6 SPCC (BR- 7033529984895 %)
3 FEfE (RAD 50x64.5 AB063S BRECEARE

4 PRSI GRAD 50x 64.5 AB063S B {LEARE

5 FEME (24D 50x64.5 AB063S BRECEARE

6 PEER 25% 60 AB063S BRI EARE

7 HMLLAZD 3.0 7l I BEREBRAM -

8 < - IFAbT- -

9 fiitxvy 7 - ASA -

10 Rivy 7 ¢ 168 F40Y -

11 Hel t4 ATV LA -

12 ££8 t4 ATV A -

13 [ & t3 ATV LA -

14 AEY KW 15 ATV LA -

15| ACYEWAy kY ¢ 19 CR -

16 PES t6 SPHC HERREE (TERH- F)
17 kyy t6 SPHC BERKEE (ThEH®- %)
18 [ PEY: $12 SGD BRlEsD - &

19 kY VREE 3.2 SPHC ERHERE (ThEfin- %)
20 gy 4x 20 A7V LA -

21 B 12 Xl -

22 FLBZEE t4 ATV LA -

23 % Ui $13 ATV A -

24 SYNLT $22 PVC -

25 FPdrVA t2 AB063S. EPDM -

26 R b M10x 100 4 6184 BRED - &

27 " M10x75 4.618% BRI &

28 " M8x 75 ATV A -

29 ] MB8X 65 ATV LA -

30 FIANRY M4x 10 A7V LA -

31 BENRY M4x 10 ATV A -

32 FRAZXY M4x 8 ATV LA -

33 F7A by A= H52 VIS4 NHAG -

34 | PHYiEHxyyv T t1.0 PVC -

() BRUEREKRORY, TERKEETHEhBVET,




